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Midpoint Formula =  

The midpoint divides or “partitions” a segment in half, so the lengths have a ratio of 1 : 1.

1) A is at -2 and B is at 7.  Find the point, T, so that T partitions A to B in a 1:2 ratio.
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	Find the point P that partitions AB in a ratio of 1:2
               


	Point P is ________(fraction) of the way from A to B.
	



[image: ]	     Find the point  of the way from M to N.
	      What is the ratio? ________
	M = _______                                                  P=_______



							Point __________
1.  Find the midpoint of , where A(-12, 18) and B(-6, 24).    Ratio = ________




Point___________

2.  Find the point P that partitions the line segment  in the given ratio. 



      Ratio   1 : 3






Point ________


3.  Find the point that is  the distance from the endpoint (-4, -6) of the segment with endpoint (-4, -6) and (2, 9).   Ratio = ________ 





Point ________
oleObject1.bin

image3.emf










image4.png
 nttp://noltmedougallmhco.com/m_data/pdf/states/TN/math/Larson CC_GE TE pdf - Windows Internet Explorer,

File Edit GoTo Favorites Help
(< ]ON

i Favorites | 7 ] Free Blogs, Pro Blogs, & B.. €] Web Slice Gallery v @) Getting Started

4 http://holtmedougal hmhco.com/hm_data/pdf/states/TN/math/Larson_CC_GE TE.pdf v‘ 4 ‘ X H [ 8ing £ -

ﬂnnp://mlxmmougal.nmrmmm/nm,_‘ ‘ o~ v [=] d v Pagev Safety~ Tools~ @~

egrrrerer
point B. The following example shows how to use slope to find a point at a
specific location on a directed line segment.

m Find a point along a directed line segment

Find the coordinates of point P along the
a directed line segment AB so that the ratio
-’ of APto PBis3to2.
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